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QUESTION 1

Your WAN links are on a VPLS service from a single service provider. You must verify device configuration power and
status in the event of a service outage. Which two actions provide out-of-band management to your edge routers?
(Choose two)

A. Place management traffic on a separate VLAN on the VPLS service

B. Connect each Ethernet management interface to a dedicated switch with traffic routed on its own subnet on the VPLS
service

C. Connect each Ethernet management interface to a dedicated switch with its own WAN connection.
D. Connect each serial management port to a console server with a cellular Internet connection
Correct Answer: CD

https://www.wti.com/t-remote-console-and-power-management-for-juniper-switches-and- routers.aspx

QUESTION 2

You work for a service provider and are designing an L3VPN with Internet access solution for a customer
using Provider Independent (PI) IPv6 space.

Which networking designs will work for this customer?

A. Use NAT64 to convert Pl space to your public IPv6 space set up 6VPE routing instances on your PE routers for the
customer

B. Use NAT64 to convert Pl space to IPv4 internet addresses, set up 6VPE routing instances on your PE routers for the
customer.

C. Use NAT66 to convert Pl space to your public IPv6 space set up 6PE on your PE routers to transport IPv6 traffic
natively.

D. Use NAT64 to convert Pl space to IPv4 Internet addresses set up 6PE on your PE routers to transport IPv4 traffic
natively.

Correct Answer: B

QUESTION 3

Your company is considering how to add more visibility in their WAN MPLS links. Which Juniper Networks product
provides this type of traffic management?

A. Contrail
B. AppFormix

C. JSA Series
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D. NorthStar

Correct Answer: D

QUESTION 4

Your team manages a WAN consisting of multiple customer MPLS tunnels. You are asked to design an
SDN WAN solution capable of signaling LSPs to avoid nodes or links before they are removed from the
network for service.

Which Juniper Network\\'s SDN WAN solution satisfies these requirements?

A. NorthStar Controller Bandwidth Calendaring

B. NorthStar Planner Path Design

C. NorthStar Planner Failure Simulation D. NorthStar Controller Maintenance Mode

Correct Answer: B

QUESTION 5

Your customer is deploying a large number of Juniper WAN edge devices spread across several remote locations. The
customer wants to create an isolated out-of-band management network where these devices can be securely accessed
and managed using the CLI and, where possible, the WebUI Which two statements will satisfy the customer\\'s
requirements\\'? (Choose two)

A. Ensure the devices are running the FIPS version of the Junos OS.

B. Enable the SSH and HTTPS services on each WAN edge device

C. Implement a management configuration group on all WAN edge devices.

D. Place all management interfaces on a common Layer 2 network

Correct Answer: AB

QUESTION 6

Your customer is paying for traffic prioritization and you must ensure that all traffic from their 172.27.
10.0/24 network receives top priority through your network.

Which action will satisfy this requirement?

A. Apply a behavior aggregate classifier to the egress interface.

B. Apply a custom rewrite rule to the ingress interface.
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C. Apply a multifield classifier to the ingress interfaces.
D. Apply a custom scheduler map to the ingress interface.
Correct Answer: C

We would need MF to match the address and set the forwarding class.

QUESTION 7

You are creating an MPLS design proposal for a customer that requires traffic engineering features through their core
MPLS network. The customer has edge routers that only support LDP signaling. Which two features would you propose
using in this scenario? (Choose two)

A. RSVP tunneling

B. LDP

C. RSVP

D. LDP tunneling

Correct Answer: CD

QUESTION 8

You are implementing an MPLS-based WAN environment to connect remote sites to the corporate
headquarters (HQ) However, the service provider at the HQ location does not provide service at the
location of one of the remote sites.

Which statement is true in this scenario?

A. A dedicated leased line will need to be used to connect to the remote site.

B. A circuit can be bridged across multiple service providers for end-to-end connectivity.

C. A public WAN circuit can be provisioned over the Internet that will provide the same level of service.
D. A hub site in a location where both service providers have a presence will need to be deployed.

Correct Answer: B

QUESTION 9

Exhibit: Referring to the exhibit which type of IPsec VPN should be used to create the desired topology?
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Design Requirement
All IPSec gateways must

A. AutoVPN

B. fully meshed VPN
C. Group VPN

D. hub-and-spoke VPN

Correct Answer: C

QUESTION 10

You work for an organization providing hosting services for customer application VMs Traditional, your organization
maintained isolation between customer workloads by assigning unique VLAN IDs to each customer network. Your
organization is approaching the upper limit of 4094 VLANSs available to uniquely identify customer networks You need to
alleviate this limitation and provide more than 4094 unique network identifiers. Which technology would satisfy these
requirements?

A. VXLAN

B. MPLS

C. MP-BGP

D. EVPN

Correct Answer: A

QUESTION 11
Your client asked you to design a solution with the requirements shown below.

Have better traffic engineering for applications across an existing MPLS core.
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Support both IPv4 and IPv6 traffic

Work with an MX Series core.

Work with a North Star Controller

Work with existing IGP (ISIS)

Which feature would you recommend be implemented in this solution?
A. zero touch provisioning

B. segment routing

C. CoS-based forwarding

D. opaque area LSAs

Correct Answer: B

QUESTION 12

Your organization maintains container-based applications hosted by two different cloud service providers.
You are asked to design a Layer 2 connection between the two cloud data centers. The data center
interconnect solution must support control plane MAC learning.

Which Layer 2 data center interconnect model satisfies this requirement?

A. L3VPN

B. L2VPN

C.VPLS

D. EVPN

Correct Answer: D

QUESTION 13

You are asked to improve the convergence time in your large enterprise WAN Each branch office network
is multihomed to two central aggregation points using BGP.

Which action would satisfy the requirement?

A. Provision more WAN bandwidth.

JNO0-1361 PDF Dumps | JNO-1361 VCE Dumps | JN0-1361 Study Guide 6/7


https://www.passapply.com/jn0-1361.html
https://www.passapply.com/jn0-1361.html
https://www.passapply.com/jn0-1361.html

VCE & PDF https://lwww.passapply.com/jn0-1361.html
2024 Latest passapply JNO-1361 PDF and VCE dumps Download
PassApply.com

B. Increase interface hold timers.
C. Decrease interface hold timers.
D. Use Bidirectional Forwarding Detection.

Correct Answer: D

QUESTION 14

Which Juniper Networks platform automates the orchestration of compute, storage, and networking resources to create
and manipulate OpenStack clouds?

A. NorthStar
B. Contrail

C. WANDL

D. RingMaster

Correct Answer: B

QUESTION 15

Your customer requires virtual machine mobility between two data centers, and they are pursuing a managed service.
Which solution would satisfy the customer\\'s requirement?

A. an EVPN service provided over IP

B. an L3VPN service

C. a routed service

D. an IPsec VPN service between CE routers

Correct Answer: B
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